
4 LINK CLOSER4 LINK CLOSERTMTM MOUNTING INSTRUCTIONS MOUNTING INSTRUCTIONS
V Closing Wheels Mount

SCHAFFERT MFG. CO., INC.  	 308-364-2607 or 800-382-2607

71495 rd. 397 ∙ indianola, ne 69034 ∙ 308-364-2607 or 800-382-2607 ∙ fax: 308-364-2410 ∙ sales@schaffert.com ∙ www.schaffert.com ∙ 14 july 2022

Before working on your planter or drill
DANGER: When storing or working on the planter always install cylinder stops or place the planter on stands to prevent personal injury or damage to the attachments.
PLEASE: Read instructions completely and verify all package contents before beginning installation

Rebounder Package Contents  
(per single row)

Item	 QuantityItem	 Quantity
Rebounder (5 hole) .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  . 1
1/4″ x 1" Bolt .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  . 2
Whiz Nut  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  . 2
L-Bracket . .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  . 1
Instruction Sheet  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  . 1

4 Link Closer Closing Wheels Mount 
Package Contents (per single row)

Item	 QuantityItem	 Quantity
Mounting Bracket .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  . 1
5/8″ x 3-1/2" Bolt .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  . 2
5/8″ Nut .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  . 2
1/2" Spacer .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  . 2
1/4" Spacer .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  . 2
3/8" x 1" Carriage Bolt  .  .  .  .  .  .  .  .  .  .  .  .  .  . 4
3/8" Whiz Nut  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  . 4
Instruction Sheet  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  . 1

Step #1:

Step #2:

Line the closing wheels mounting bracket up over the bottom of the 4 
Link Closer. Secure in place with the four 3/8″ carriage bolts. 
For easiest installation, have the bolt head on the inside of the 4 Link 
Closer, and thread the 3/8″ whiz nuts on from the outside.

Using the 5/8″ bolts and nuts, mount your closing 
wheels to the bottom of the mounting bracket. 
The wheels can be offset by placing one in the 
front hole and the other in the back hole. Have 
the bolt head on the outside of the wheel, and 
thread the nut on the inside of the mounting 
bracket. 
Use spacers on the inside of each wheel as 
needed. 

carriage 
bolts  
& whiz 
nuts

mounting bracket 
for closing wheels

spacers

closing 
wheel

5/8″ 
nuts

PLEASE NOTE:
If you have pivot tracks to plant through or ditches to go through 
when planting, the V Closing Wheel mount is the best option to 
use. The G2/G3/G4 is not recommended with the 4LC for use in 
pivot tracks or ditches in field.


